

SUMA I RESTA D'ENTERS II

1. Calcula tenint en compte el signe dels enters:

$$(+3) - (-8) = \quad =$$

$$(+5) + (-3) = \quad =$$

$$(-3) - (+9) = \quad =$$

$$(+4) - (-2) = \quad =$$

$$(-6) + (-8) = \quad =$$

$$(+5) + (+3) = \quad =$$

$$(+9) - (-4) = \quad =$$

$$(-5) + (-8) = \quad =$$

$$-(+2) - (-6) = \quad =$$

$$+(+2) - (-7) = \quad =$$

$$(+11) + (-3) = \quad =$$

$$-(+13) + (-8) = \quad =$$

$$+(-3) + (-7) = \quad =$$

$$(+4) - (+9) = \quad =$$

$$-(-10) - (+6) = \quad =$$

$$(+2) + (-7) = \quad =$$

$$(-3) - (-6) = \quad =$$

$$(-3) - (+6) = \quad =$$

$$(+7) - (-4) = \quad =$$

$$-(+5) - (+8) = \quad =$$

$$+(-3) + (-6) = \quad =$$

$$(+6) - (-9) = \quad =$$

$$(+2) - (-6) = \quad =$$

$$-(+4) - (+2) = \quad =$$

$$-(+2) - (-2) = \quad =$$

$$-(+5) - (+1) = \quad =$$

$$-(+6) - (+4) = \quad =$$

$$-(-3) + (+2) = \quad =$$

$$-(+12) - (-6) = \quad =$$

$$(+7) - (-5) = \quad =$$

$$-(+2) - (-16) = \quad =$$

$$(+9) + (+3) = \quad =$$

$$(+4) + (-6) = \quad =$$

$$-(+16) + (-2) = \quad =$$

$$+(+12) - (-16) = \quad =$$

$$+(+2) - (+4) = \quad =$$

$$(+8) - (-6) = \quad =$$

$$(+1) + (+9) = \quad =$$

$$(+12) - (-9) = \quad =$$

$$-(+4) - (-8) = \quad =$$

$$-(+12) + (-3) = \quad =$$

$$-(+11) - (+10) = \quad =$$

$$(+18) - (+16) = \quad =$$

$$(+12) + (-12) = \quad =$$

$$-(+4) - (-11) = \quad =$$

$$(+9) + (-14) = \quad =$$

$$+(+12) + (-12) = \quad =$$

$$(+4) - (-3) = \quad =$$

$$-(+2) + (+5) = \quad =$$

$$+(+5) - (+2) = \quad =$$